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The system of assessment of the examination
Part 1

Completing each of the tasks 1, 2, 3, 4, 5, 6 it is estimated by 1 point. The task is
considered completed correctly if the answer is written in the form specified in the
instructions for completing the task.
2 points are estimated for the complete correct completion of each of the tasks, 1
point is estimated for completing the task with one error OR incomplete completion
of the task;
0 points - in all other cases.
2 points are estimated for the complete correct completion of each of the tasks 7-22,
if the correct sequence is specified
1 point - if one mistake

0 points - in all other cases.

Part 2

In part 2, the answer to task 22 is estimated at a maximum of 2 points, the answers
to tasks 24-29 are estimated at a maximum of 3 points.

Criteria for evaluating tasks with a detailed answer

L ~_Evaluation ) point =y
L I e e e Task 23 et
The answer includes two elements and does not 2 ?
contain biological errors .
The answer includes one element, OR the answer 1 1
includes two elements, but contains
 biologicalerrors il ey Feaobres




‘Wrong answer N 0

= : Task 24

| The answer includes three elements and does not 3
contain biological errors
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' contain biological errors, OR the answer includes
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| contain biological errors
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contain biclogical errors, OR the answer includes
three clements but contains biological errors
' The answer inciudes one element and does not contain 1
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| The answer is correct and complete, includes three 3
| elements and does not contain biological errors
The answer includes two elements and does not ' 2 ;
contain biological errors, OR the answer includes |
three elements but contains biological errors |
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1 The answer includes two elements and does not 2 |
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contain biological errors, OR the answer includes
three ¢l
| The answer includes one element and does not contain 1

| biological errors, (

ements but contains biological errors

IR the answer includes two

elements but contains biological errors
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. The entrance test is considered passed if the applicant has points more than
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